Year 2 Maths Week beginning 1%t June 2020

Addition — please watch our explanation on our youtube channel showing you how to
complete the working out using a number line.

Task 1:

Complete these number sentences showing your working out using a number line.

1. 15+6=
2. 23+3=
3. 31+8=
4. 26+9=
5. 37+5=
6. 45+7 =
7. 42+4=
8. 63+7=
Task 2:

Complete these number sentences showing your working out using a number line. Start with
the largest number and partition the smallest number into tens and ones.

1. 25+13=




2. 52+17=

3. 61+27=
4. 43+26=
5. 56+13=
6. 63+29=
7. 37+39=
8. 26+67=
Task 3:

Solve these real life word problems, showing the number sentence you use and the working
out using a number line.

1. Ralph has 15 balloons and Jane has 4
balloons. How many balloons do they have Eg:15+4 =
altogether?

2. Max buys 13 oranges and 3 apples. How
many pieces of fruit does he buy altogether?

3. Sam has 25p to spend and then he finds 7p
more on the floor. How much does he have
to spend now?




4. Tim and his friend have 12p each. How much
money do they have altogether?

5. Jack’s mum gives him 40p to spend and his
dad gives him 15p. How much money does
he have in total?

Task 4

Solve these real life word problems, showing the number sentence you use and the working
out using a number line.

1. Mandy gave her friend 24 gems and her
sister 12 gems. How many gems did she give
away in total?

2. Erin had 50p in her pocket and she found
14p more. How much money does she have
altogether?

3. |have 39p and get another 32p in pocket
money. How much money do | have
altogether?

4. Aran weighs out 55 grams of sugar and adds
35 grams of flour. How much do his
ingredients weigh altogether?

5. Sarah is 86cm tall when she is 2 years old.
She grows another 13cm. How tall is she
now?







Task 5:

Solve these real life word problems, showing the number sentences you use and the working
out using a number line.

1. Sam has 14 marbles, Jack has 21 marbles and
Julie has 15 marbles. How many marbles are
there altogether?

2. Kieran takes 25p out of his mum’s purse,
then gets given 42p by his friend and he finds
50p on the floor. How much money does
Kieran have now?

3. Drew weighs 40 g of butter, adds in 55g of
flour and 60g of sugar. How much do the
ingredients weigh altogether?

4. Kim puts 75ml of water into a jug. She adds
35ml of juice and then tops it up with 14ml
of iced water. How much liquid is in the jug
altogether?

5. There are 52 passengers on a train. 34 more
join the train at the next station and another
16 join later. How many people are on the
train altogether?




